[N _ [ jet area
ch

Ratio to STAR

14

10

0.5

200 GeV p Underlying Event
=T T ] T T | | I R B B B I =
| -

o
>
L -1
o 1=
— ®m  STAR —
— —&— Pythia 8.308 default N
B Pythia 8.308 tune-1 12
| Pythia 8.308 tune-2c s
- Pythia 8.308 tune-2m 13
>
B T
_ =
™
— _ |
(40)
o 1o
o
— — ™M
—i
B . T 1.2
- : | m X
_ /‘}\; ] i
L : @ <
- i ©
| ) ﬂ 1 ] E
(]
I 9
| V)]
o 15
o
| ] O
= ] SN S
— -2
i 1

| —0.5

1 " | " 1 1 " 1 1 " | " " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
10 20 30 40

pT(Ieading jet) / GeV



	Contents
	Page 1


